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Program t hat
sol ves the probl em of the Hanoi
void rhanoi (int n, int src,

{

int other;

if (n>1) {
other = 6 -
rhanoi (n - 1,
rhanoi (1, src,
rhanoi (n - 1,

src - ds
src,
dst);
ot her,

else { /* print

put nsg(src, dst);

mai n()
int ndisks;

ndi sks = read_i nteger();
rhanoi (n, 1, 2);

return O;
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14:36:50 hanoi.lst
0142: | void rhanoi (int n, int src, int dst); ---------------- 0198: | 11
0142: | 0198: A8 08 00 | mov r0, [bp + dst] ; dst
0142: | rhanoi : 019B: 00 | push ro
0142: 06 | push bp 019C: A8 06 00 | nov r0, [bp + src] ; src
0143: 40 3E | nmv bp, sp 019F: 00 | push ro
0145: | 01A0: CF 23 01 | cal | put nsg ; putnsg(src, dst);
0145: 90 02 00 | nov ro, 2 ; alloc stack space (2 bytes) 01A3: | ; mov ro, 4
0148: 40 C7 | sub sp, r0 ; for local variable "other" 01A3: | ; add sp, r0 ; renpve two args from stack
014A: | 01A3: |
014A: | stack frane: 01A3: | 12:
014A: | ; ot her bp - 2 01A3: 40 37 | nmv sp, bp
014A: | ; saved_bp <--- bp 01A5: OE | pop bp
014A: | ; return_addr bp + 2 01A6: 3D | ret
014A: | ; n bp + 4 01A7: |
014A: | ; src bp + 6 01A7: |
014A: | ; dst bp + 8 01A7: |
014A: | 01A7: |
014A: | ot her equ -2 01A7: |
014A: | n equ 4 01A7: |
014A: | src equ 6 01A7: |
014A: | dst equ 8 01A7: |
014A: | 01A7: |
014A: 91 01 00 | nmv rl, 1 01A7: |
014D: A8 04 00 | nov r0, [bp + n] ;n 01A7: | N main function ------------------ o
0150: 41 48 | cnp ro, r1 01A7: |
0152: CE 98 01 | jle 11 01A7: |  main
0155: | 01A7: 90 04 00 | nov r0, WRTSTR
0155: 93 06 00 | nov r3, 6 01AA: 91 05 01 | nmov rl, pronpt
0158: A9 06 00 | nmv rl, [bp + src] ; src 01AD: 3E | syscal |
015B: 40 CB | sub r3, r1 01AE: |
015D AA 08 00 | nov r2, [bp + dst] ; dst 01AE: 90 00 00 | nmov r0, READ ; read ndi sks
0160: 40 D3 | sub r3, r2 01B1: 3E | syscal | ;
0162: B3 FE FF | nov [bp + other], r3; other = 6 - src - dst; 01B2: 89 03 01 | nov [ ndisks], r1
0165: | 01B5: |
0165: | ; MoV r3, [bp + other]; other 01B5: 90 04 00 | nmv r0, WRTSTR
0165: 03 | push r3 01B8: 91 OF 01 | nov rl, sol
0166: | ; mov rl, [bp + src] ; src 01BB: 3E | syscal |
0166: 01 | push ri 01BC: |
0167: | ; nov r0, [bp + n] 01BC. 90 02 00 | nov ro, 2 ; rhanoi (ndi sks, 1, 2);
0167: 18 | dec ro ;on- 1 01BF: 00 | push ro
0168: 00 | push ro 01C0: 90 01 00 | mov ro, 1
0169: CF 42 01 | cal | rhanoi ; rhanoi(n - 1, src, other); 01C3: 00 | push ro
016C: 90 06 00 | nov ro, 6 01C4: 80 03 01 | nmov r0, [ndisks]
016F: 40 47 | add sp, r0 ; renove three args fromstack | 01C7: 00 | push ro
0171: | 01C8: CF 42 01 | cal | r hanoi
0171: A8 08 00 | nov r0, [bp + dst] ; src 01CB: 90 06 00 | nmov ro, 6
0174: 00 | push ro 01CE: 40 47 | add sp, r0
0175: A8 06 00 | nov r0, [bp + src] ; dst 01D0: |
0178: 00 | push ro 01D0: 90 02 00 | nmov ro, EXIT ; execution ends here
0179: 90 01 00 | mov ro, 1 D1 01D3: 3E | syscal |
017C:. 00 | push ro
017D: CF 42 01 | call rhanoi ; rhanoi (1, src, dst);
0180: 90 06 00 | nmv ro, 6
0183: 40 47 | add sp, r0 ; renove three args from stack
0185: |
0185: A8 08 00 | nmv r0, [bp + dst] ; dst
0188: 00 | push ro
0189: A8 FE FF | nov r0, [bp + other] ;other
018C: 00 | push ro
018D: A8 04 00 | nov r0, [bp + n]
0190: 18 | dec ro ;on -1
0191: 00 | push ro
0192: CF 42 01 | cal | rhanoi ; rhanoi (n - 1, other, dst);
0195: | ; mov ro, 6
0195: | ; add sp, r0 ; renove three args from stack
0195: C0 A3 01 | jp 12
0198: |




